Global and Stochastic Analysis Vol. 1, No. 1, June 2011 Copyright© Mind Reader Publications www.gsajournal.yolasite.com

# Contact Integrable Extensions and Zero-Curvature Representations for the Second Heavenly Equation

#### Oleg I. Morozov

Institute of Mathematics and Statistics, University of Tromsø, Tromsø 9037, Norway Oleg.Morozov@uit.no

Received by the Editorial Board on April 12, 2011

#### Abstract

The method of contact integrable extensions is used to find new zero-curvature representation for Plebañski's second heavenly equation.

**Key words:** Lie pseudo-groups; Maurer–Cartan forms; symmetries of differential equations; coverings of differential equations

### 1 Introduction

The second Plebanski's heavenly equation, [27],

$$u_{xz} = u_{ty} + u_{yy} u_{zz} - u_{yz}^2, (1.1)$$

describes self-dual gravitational fields. This equation can be obtained as the compatibility condition for the following system of PDEs, [10, 1], cf. [27, Eq. (3.13)],

$$\begin{cases} v_t = (u_{yz} + \lambda) v_z - u_{zz} v_y, \\ v_x = u_{yy} v_z - (u_{yz} - \lambda) v_y \end{cases}$$
 (1.2)

with an arbitrary constant  $\lambda$ . This condition is equivalent to the commutativity of four infinite-dimensional vector fields

$$\widetilde{D}_{t} = \overline{D}_{t} + \sum_{i,j\geq 0} \widetilde{D}_{y}^{i} \widetilde{D}_{z}^{j} ((u_{yz} + \lambda) v_{0,1} - u_{zz} v_{1,0}) \frac{\partial}{\partial v_{i,j}},$$

$$\widetilde{D}_{x} = \overline{D}_{x} + \sum_{i,j\geq 0} \widetilde{D}_{y}^{i} \widetilde{D}_{z}^{j} (u_{yy} v_{0,1} - (u_{yz} - \lambda) v_{1,0}) \frac{\partial}{\partial v_{i,j}},$$

$$\widetilde{D}_{y} = \overline{D}_{y} + \sum_{i,j\geq 0} v_{i+1,j} \frac{\partial}{\partial v_{i,j}},$$

$$\widetilde{D}_{z} = \overline{D}_{z} + \sum_{i,j\geq 0} v_{i,j+1} \frac{\partial}{\partial v_{i,j}},$$

where  $\bar{D}_t$ ,  $\bar{D}_x$ ,  $\bar{D}_y$  and  $\bar{D}_z$  are restrictions of the total derivatives  $D_t$ ,  $D_x$ ,  $D_y$  and  $D_z$  to the infinite prolongation of Eq. (1.1). This construction is called a differential covering, [15] – [18], or zero-curvature representation. Dually Eqs. (1.2) can be defined by means of differential 1-form

$$\omega = dv + (v_{zz} v_y - (u_{yz} + \lambda) v_z) dt + ((u_{yz} - \lambda) v_y - u_{yy} v_z) dx - v_y dy - v_z dz$$
 (1.3)

called the Wahlquist-Estabrook form of the covering, [9]. In [25] we show that this form can be inferred from a linear combination of Maurer-Cartan forms of the contact symmetry pseudo-group of Eq. (1.1). In this paper we apply to (1.1) the technique of contact integrable extensions (CIEs) proposed in [24]. We find CIEs of the structure equations of the contact symmetry pseudo-group of Eq. (1.1). The analysis of these CIEs splits into two cases. In the first case integration of the CIE gives Eqs. (1.2), while in the second case we obtain new covering of the second heavenly equation.

## 2 Symmetry pseudo-group of the second heavenly equation

Let  $\pi \colon \mathbb{R}^n \times \mathbb{R} \to \mathbb{R}^n$  be a vector bundle with the local base coordinates  $(x^1,...,x^n)$  and the local fibre coordinate u; then denote by  $J^2(\pi)$  the bundle of the second-order jets of sections of  $\pi$ , with the local coordinates  $(x^i,u,u_i,u_{ij})$ ,  $i,j \in \{1,...,n\}, i \leq j$ . For every local section  $(x^i,f(x))$  of  $\pi$ , denote by  $j_2(f)$  the corresponding 2-jet  $(x^i,f(x),\partial f(x)/\partial x^i,\partial^2 f(x)/\partial x^i\partial x^j)$ . A differential 1-form  $\vartheta$  on  $J^2(\pi)$  is called a contact form if it is annihilated by all 2-jets of local sections:  $j_2(f)^*\vartheta = 0$ . In the local coordinates every contact 1-form is a linear combination of the forms  $\vartheta_0 = du - u_i dx^i$ ,  $\vartheta_i = du_i - u_{ij} dx^j$ ,  $i,j \in \{1,...,n\}, u_{ji} = u_{ij}$  (here and later we assume the summation convention, so  $u_i dx^i = \sum_{i=1}^n u_i dx^i$ , etc.) A local diffeomorphism  $\Delta \colon J^2(\pi) \to \mathbb{C}$ 

 $J^2(\pi)$ ,  $\Delta : (x^i, u, u_i, u_{ij}) \mapsto (\check{x}^i, \check{u}, \check{u}_i, \check{u}_{ij})$ , is called a *contact transformation* if for every contact 1-form  $\check{\vartheta}$  the form  $\Delta^*\check{\vartheta}$  is also contact. We denote by  $\operatorname{Cont}(J^2(\pi))$  the pseudo-group of contact transformations on  $J^2(\pi)$ .

Let  $\mathcal{H} \subset \mathbb{R}^{(2n+1)(n+3)(n+1)/3}$  be an open set with local coordinates  $a, b_k^i, c^i, f^{ik}, g_i, s_{ij}, w_{ij}^k, u_{ijk}, i, j, k \in \{1, ..., n\}$ , such that  $a \neq 0$ ,  $\det(b_k^i) \neq 0$ ,  $f^{ik} = f^{ki}$ ,  $u_{ijk} = u_{jik} = u_{ikj}$ . Let  $(B_k^i)$  be the inverse matrix for the matrix  $(b_l^k)$ , so  $B_k^i b_l^k = \delta_l^i$ . We consider the *lifted coframe* 

$$\Theta_0 = a \,\vartheta_0, \quad \Theta_i = g_i \,\Theta_0 + a \,B_i^k \,\vartheta_k, \quad \Xi^i = c^i \,\Theta_0 + f^{ik} \,\Theta_k + b_k^i \,dx^k,$$

$$\Theta_{ij} = a \,B_i^k \,B_i^l \,(du_{kl} - u_{klm} \,dx^m) + s_{ij} \,\Theta_0 + w_{ij}^k \,\Theta_k, \tag{2.1}$$

 $i \leq j$ , defined on  $J^2(\pi) \times \mathcal{H}$ . As it is shown in [21], the forms (2.1) are Maurer–Cartan forms for  $\mathrm{Cont}(J^2(\pi))$ , that is, a local diffeomorphism  $\widehat{\Delta} \colon J^2(\pi) \times \mathcal{H} \to J^2(\pi) \times \mathcal{H}$  satisfies the conditions  $\widehat{\Delta}^* \check{\Theta}_0 = \Theta_0$ ,  $\widehat{\Delta}^* \check{\Theta}_i = \Theta_i$ ,  $\widehat{\Delta}^* \check{\Xi}^i = \Xi^i$ , and  $\widehat{\Delta}^* \check{\Theta}_{ij} = \Theta_{ij}$  whenever it is projectable on  $J^2(\pi)$ , and its projection  $\Delta \colon J^2(\pi) \to J^2(\pi)$  is a contact transformation.

The structure equations for  $Cont(J^2(\pi))$  read

$$d\Theta_{0} = \Phi_{0}^{0} \wedge \Theta_{0} + \Xi^{i} \wedge \Theta_{i},$$

$$d\Theta_{i} = \Phi_{i}^{0} \wedge \Theta_{0} + \Phi_{i}^{k} \wedge \Theta_{k} + \Xi^{k} \wedge \Theta_{ik},$$

$$d\Xi^{i} = \Phi_{0}^{0} \wedge \Xi^{i} - \Phi_{k}^{i} \wedge \Xi^{k} + \Psi^{i0} \wedge \Theta_{0} + \Psi^{ik} \wedge \Theta_{k},$$

$$d\Theta_{ij} = \Phi_{i}^{k} \wedge \Theta_{kj} - \Phi_{0}^{0} \wedge \Theta_{ij} + \Upsilon_{ij}^{0} \wedge \Theta_{0} + \Upsilon_{ij}^{k} \wedge \Theta_{k} + \Xi^{k} \wedge \Theta_{ijk},$$

where the additional forms  $\Phi_0^0$ ,  $\Phi_i^0$ ,  $\Phi_i^k$ ,  $\Psi^{i0}$ ,  $\Psi^{ij}$ ,  $\Upsilon_{ij}^0$ ,  $\Upsilon_{ij}^k$ , and  $\Theta_{ijk}$  depend on differentials of the coordinates of  $\mathcal{H}$ .

Suppose  $\mathcal{E}$  is a second-order differential equation in one dependent and n independent variables. We consider  $\mathcal{E}$  as a submanifold in  $J^2(\pi)$ . Let  $\mathrm{Cont}(\mathcal{E})$  be the group of contact symmetries for  $\mathcal{E}$ . It consists of all the contact transformations on  $J^2(\pi)$  mapping  $\mathcal{E}$  to itself. Let  $\iota_0 \colon \mathcal{E} \to J^2(\pi)$  be an embedding and  $\iota = \iota_0 \times \mathrm{id} \colon \mathcal{E} \times \mathcal{H} \to J^2(\pi) \times \mathcal{H}$ . Maurer–Cartan forms of the pseudo-group  $\mathrm{Cont}(\mathcal{E})$  can be obtained from the forms  $\theta_0 = \iota^*\Theta_0$ ,  $\theta_i = \iota^*\Theta_i$ ,  $\xi^i = \iota^*\Xi^i$  and  $\theta_{ij} = \iota^*\Theta_{ij}$  by means of Élie Cartan's method of equivalence, [3]–[6], [8, 13, 26], see details and examples in [7], [20]–[25].

Using this method, we find the Maurer-Cartan forms and their structure equations for the symmetry pseudo-group of Eq. (1.1). The structure equations have the following form:

$$d\theta_{0} = \eta_{5} \wedge \theta_{0} + \xi^{1} \wedge \theta_{1} + \xi^{2} \wedge \theta_{2} + \xi^{3} \wedge \theta_{3} + \xi^{4} \wedge \theta_{4},$$

$$d\theta_{1} = (\eta_{5} - \eta_{1}) \wedge \theta_{1} - \eta_{3} \wedge \theta_{2} - \theta_{44} \wedge \theta_{3} + \eta_{6} \wedge \theta_{4} + \xi^{1} \wedge \theta_{11} + \xi^{2} \wedge \theta_{12} + \xi^{3} \wedge \theta_{13} + \xi^{4} \wedge \theta_{14},$$

$$d\theta_{2} = -\eta_{2} \wedge \theta_{1} + (\eta_{5} - \eta_{4}) \wedge \theta_{2} + (\eta_{6} - 2\theta_{34}) \wedge \theta_{3} + \theta_{33} \wedge \theta_{4} + \xi^{1} \wedge \theta_{12} + \xi^{2} \wedge \theta_{22}$$

$$\begin{split} +\xi^3 \wedge \theta_{23} + \xi^4 \wedge \theta_{13}, \\ d\theta_3 &= \frac{1}{3} \left( \eta_1 - 2 \, \eta_4 - 2 \, \eta_5 \right) \wedge \theta_3 - \eta_2 \wedge \theta_4 + \xi^1 \wedge \theta_{13} + \xi^2 \wedge \theta_{23} + \xi^3 \wedge \theta_{33} + \xi^4 \wedge \theta_{34}, \\ d\theta_4 &= -\eta_3 \wedge \theta_3 + \frac{1}{3} \left( \eta_4 - 2 \, \eta_1 + 2 \, \eta_5 \right) \wedge \theta_4 + \xi^1 \wedge \theta_{14} + \xi^2 \wedge \theta_{13} + \xi^3 \wedge \theta_{34} + \xi^4 \wedge \theta_{44}, \\ d\xi^1 &= \eta_1 \wedge \xi^1 + \eta_2 \wedge \xi^2, \\ d\xi^2 &= \eta_3 \wedge \xi^1 + \eta_4 \wedge \xi^2, \\ d\xi^3 &= \theta_{44} \wedge \xi^1 - \left( \eta_6 - 2 \, \theta_{34} \right) \wedge \xi^2 + \frac{1}{3} \left( \eta_5 - \eta_1 + 2 \, \eta_4 \right) \wedge \xi^3 + \eta_3 \wedge \xi^4, \\ d\xi^4 &= -\eta_6 \wedge \xi^1 - \theta_{33} \wedge \xi^2 + \eta_2 \wedge \xi^3 + \frac{1}{3} \left( \eta_5 - 2 \, \eta_1 - \eta_4 \right) \wedge \xi^4, \\ d\theta_{11} &= -\eta_{12} \wedge \theta_1 + \eta_{14} \wedge \theta_2 + \eta_{13} \wedge \theta_3 - \eta_{11} \wedge \theta_4 + \eta_5 \wedge \theta_{11} - 2 \, \eta_1 \wedge \theta_{11} - 2 \, \eta_3 \wedge \theta_{12} \\ &- 2 \, \theta_{44} \wedge \theta_{13} + 2 \, \eta_6 \wedge \theta_{14} - \xi^1 \wedge \eta_{22} - \xi^2 \wedge \eta_{21} - \xi^3 \wedge \eta_{17} - \xi^4 \wedge \eta_{18}, \\ d\theta_{12} &= -\eta_{10} \wedge \theta_1 + \eta_{12} \wedge \theta_2 + \eta_{11} \wedge \theta_3 - \eta_7 \wedge \theta_4 - \eta_2 \wedge \theta_{11} + \left( \eta_5 - \eta_1 - \eta_4 \right) \wedge \theta_{12} \\ &+ 2 \left( \eta_6 - \theta_{34} \right) \wedge \theta_{13} + \theta_{33} \wedge \theta_{14} - \eta_3 \wedge \theta_{22} - \theta_{44} \wedge \theta_{23} - \xi^1 \wedge \eta_{21} - \xi^2 \wedge \eta_{19} \\ &- \xi^3 \wedge \eta_{15} - \xi^4 \wedge \eta_{17}, \\ d\theta_{13} &= \eta_{12} \wedge \theta_3 - \eta_{10} \wedge \theta_4 + \frac{2}{3} \left( \eta_5 - \eta_1 - \eta_4 \right) \wedge \theta_{13} - \eta_2 \wedge \theta_{14} - \eta_3 \wedge \theta_{23} - \theta_{44} \wedge \theta_{33} \\ &+ \eta_6 \wedge \theta_{34} - \xi^1 \wedge \eta_{17} - \xi^2 \wedge \eta_{15} - \xi^3 \wedge \eta_7 - \xi^4 \wedge \eta_{11}, \\ d\theta_{14} &= \eta_{14} \wedge \theta_3 - \eta_{12} \wedge \theta_4 - 2 \, \eta_3 \wedge \theta_{13} + \frac{1}{3} \left( \eta_4 - 5 \, \eta_1 + 2 \, \eta_5 \right) \wedge \theta_{14} + \left( \eta_6 + \theta_{34} \right) \wedge \theta_{44} \\ &- \xi^1 \wedge \eta_{18} - \xi^2 \wedge \eta_{17} - \xi^3 \wedge \eta_{11} - \xi^4 \wedge \eta_{13}, \\ d\theta_{22} &= -\eta_9 \wedge \theta_1 + \eta_{10} \wedge \theta_2 + \eta_7 \wedge \theta_3 - \eta_8 \wedge \theta_4 - 2 \, \eta_2 \wedge \theta_{12} + 2 \, \theta_{33} \wedge \theta_{13} - \xi^1 \wedge \eta_{19} \\ &+ \left( \eta_5 - 2 \, \eta_1 \right) \wedge \theta_{22} + 2 \left( \eta_6 - 2 \, \theta_{34} \right) \wedge \theta_{23} - \xi^2 \wedge \eta_{20} - \xi^3 \wedge \eta_{16} - \xi^4 \wedge \eta_{15}, \\ d\theta_{23} &= \eta_{10} \wedge \theta_3 - \eta_9 \wedge \theta_4 - 2 \, \eta_2 \wedge \theta_{13} + \frac{1}{3} \left( \eta_1 - 5 \, \eta_4 + 2 \, \eta_5 \right) \wedge \theta_{23} + \left( \eta_6 - 3 \, \theta_{34} \right) \wedge \theta_{33} \\ &- \xi^1 \wedge \eta_{15} - \xi^2 \wedge \eta_{16} - \xi^3 \wedge \eta_3 - \xi^4 \wedge \eta_7, \\ d\theta_{33} &= \frac{1}{3} \left( \eta_5 - \eta_1 - 4 \, \eta_4 \right) \wedge \theta_{34} - 2 \, \eta_5 \wedge \theta_{44} - \xi^1 \wedge \eta_{11} - \xi^2 \wedge \eta_7 - \xi^3 \wedge \eta_{10} - \xi^4 \wedge \eta_{14}, \\ d\eta_1 &= \eta_2 \wedge \eta_3$$

$$+\eta_{12} \wedge \xi^4$$
,

$$d\eta_7 = \frac{1}{3} (\eta_5 - \eta_1 - \eta_4) \wedge \eta_7 - 2 \eta_2 \wedge \eta_{11} - \eta_3 \wedge \eta_8 + \eta_6 \wedge \eta_{10} - 2 \eta_{12} \wedge \theta_{33} + 2 \eta_{10} \wedge \theta_{34} + \eta_9 \wedge \theta_{44} + \eta_{23} \wedge \xi^1 + \eta_{24} \wedge \xi^2 + \eta_{25} \wedge \xi^3 + \eta_{26} \wedge \xi^4,$$

$$d\eta_8 = \frac{1}{3} (\eta_5 + 2 \eta_1 - 7 \eta_4) \wedge \eta_8 - 3 \eta_2 \wedge \eta_7 + \eta_6 \wedge \eta_9 - 3 \eta_{10} \wedge \theta_{33} + 4 \eta_9 \wedge \theta_{34} + \eta_{24} \wedge \xi^1 + \eta_{27} \wedge \xi^2 + \eta_{28} \wedge \xi^3 + \eta_{25} \wedge \xi^4,$$

$$d\eta_9 = (\eta_1 - 2\eta_4) \wedge \eta_9 - 3\eta_2 \wedge \eta_{10} + \eta_{25} \wedge \xi^1 + \eta_{28} \wedge \xi^2,$$

$$d\eta_{10} = -2\,\eta_2 \wedge \eta_{12} - \eta_3 \wedge \eta_9 - \eta_4 \wedge \eta_{10} + \eta_{26} \wedge \xi^1 + \eta_{25} \wedge \xi^2,$$

$$d\eta_{11} = \frac{1}{3} (\eta_5 - \eta_1 - \eta_4) \wedge \eta_{11} - \eta_2 \wedge \eta_{13} - 2 \eta_3 \wedge \eta_7 + \eta_6 \wedge \eta_{12} + \eta_{29} \wedge \xi^1 + \eta_{23} \wedge \xi^2 + \eta_{26} \wedge \xi^3 + \eta_{30} \wedge \xi^4 + \eta_{14} \wedge \theta_{33} + 2 \eta_{10} \wedge \theta_{44},$$

$$d\eta_{12} = -\eta_1 \wedge \eta_{12} - \eta_2 \wedge \eta_{14} - 2\eta_3 \wedge \eta_{10} + \eta_{30} \wedge \xi^1 + \eta_{26} \wedge \xi^2,$$

$$d\eta_{13} = \frac{1}{3} (\eta_5 - 7 \eta_1 + 2 \eta_4) \wedge \eta_{13} - 3 \eta_3 \wedge \eta_{11} + (\eta_6 + 2 \theta_{34}) \wedge \eta_{14} + 3 \eta_{12} \wedge \theta_{44} + \eta_{31} \wedge \xi^1 + \eta_{29} \wedge \xi^2 + \eta_{30} \wedge \xi^3 + \eta_{32} \wedge \xi^4,$$

$$d\eta_{14} = (\eta_4 - 2\,\eta_1) \wedge \eta_{14} - 3\,\eta_3 \wedge \eta_{12} + \eta_{32} \wedge \xi^1 + \eta_{30} \wedge \xi^2,$$

$$d\eta_{15} = \frac{1}{3} (2 \eta_5 - 5 \eta_4 - 2 \eta_1) \wedge \eta_{15} - 2 \eta_2 \wedge \eta_{17} - \eta_3 \wedge \eta_{16} + 2 \eta_6 \wedge \eta_7 + \eta_{26} \wedge \theta_3 - \eta_{25} \wedge \theta_4 + \eta_{10} \wedge \theta_{13} + \eta_9 \wedge \theta_{14} - 2 \eta_{12} \wedge \theta_{23} - 2 \eta_{11} \wedge \theta_{33} + 3 \eta_7 \wedge \theta_{34} + \eta_8 \wedge \theta_{44} + \eta_{33} \wedge \xi^1 + \eta_{34} \wedge \xi^2 + \eta_{24} \wedge \xi^3 + \eta_{23} \wedge \xi^4,$$

$$d\eta_{16} = \frac{1}{3} (\eta_1 - 8\eta_4 + 2\eta_5) \wedge \eta_{16} - 3\eta_2 \wedge \eta_{15} + 2\eta_6 \wedge \eta_8 + \eta_{25} \wedge \theta_3 - \eta_{28} \wedge \theta_4 + 3\eta_9 \wedge \theta_{13} - 3\eta_{10} \wedge \theta_{23} + 3\eta_7 \wedge \theta_{33} + 5\eta_8 \wedge \theta_{34} + \eta_{34} \wedge \xi^1 + \eta_{35} \wedge \xi^2 + \eta_{27} \wedge \xi^3 + \eta_{24} \wedge \xi^4,$$

$$d\eta_{17} = \frac{1}{3} \left( 2\,\eta_5 - 5\,\eta_1 - 2\,\eta_4 \right) \wedge \eta_{17} - \eta_2 \wedge \eta_{18} - 2\,\eta_3 \wedge \eta_{15} + 2\,\eta_6 \wedge \eta_{11} + \eta_{30} \wedge \theta_3 \right.$$
$$\left. - \eta_{26} \wedge \theta_4 - \eta_{12} \wedge \theta_{13} + 2\,\eta_{10} \wedge \theta_{14} - \eta_{14} \wedge \theta_{23} - \eta_{13} \wedge \theta_{33} + \eta_{11} \wedge \theta_{34} + 2\,\eta_7 \wedge \theta_{44} \right.$$
$$\left. + \eta_{36} \wedge \xi^1 + \eta_{33} \wedge \xi^2 + \eta_{23} \wedge \xi^3 + \eta_{29} \wedge \xi^4, \right.$$

$$d\eta_{18} = \frac{1}{3} (\eta_4 - 8 \eta_1 + 2 \eta_5) \wedge \eta_{18} - 3 \eta_3 \wedge \eta_{17} + 2 \eta_6 \wedge \eta_{13} + \eta_{32} \wedge \theta_3 - \eta_{30} \wedge \theta_4$$
$$-3 \eta_{14} \wedge \theta_{13} + 3 \eta_{12} \wedge \theta_{14} - \eta_{13} \wedge \theta_{34} + 3 \eta_{11} \wedge \theta_{44} + \eta_{37} \wedge \xi^1 + \eta_{36} \wedge \xi^2 + \eta_{29} \wedge \xi^3$$
$$+ \eta_{31} \wedge \xi^4,$$

$$d\eta_{19} = (\eta_5 - \eta_1 - 2\eta_4) \wedge \eta_{19} - 2\eta_2 \wedge \eta_{21} - \eta_3 \wedge \eta_{20} + 3\eta_6 \wedge \eta_{15} - \eta_{25} \wedge \theta_1 + \eta_{26} \wedge \theta_2 + \eta_{23} \wedge \theta_3 - \eta_{24} \wedge \theta_4 + \eta_9 \wedge \theta_{11} + \eta_{10} \wedge \theta_{12} + \eta_7 \wedge \theta_{13} + \eta_8 \wedge \theta_{14} - 2\eta_{12} \wedge \theta_{22} - 2\eta_{11} \wedge \theta_{23} - 2\eta_{17} \wedge \theta_{33} + 4\eta_{15} \wedge \theta_{34} + \eta_{16} \wedge \theta_{44} + \eta_{38} \wedge \xi^1 + \eta_{39} \wedge \xi^2 + \eta_{34} \wedge \xi^3 + \eta_{33} \wedge \xi^4,$$

$$d\eta_{20} = (\eta_5 - 3\,\eta_4) \wedge \eta_{20} - 3\,(\eta_2 \wedge \eta_{19} - \eta_6 \wedge \eta_{16}) - \eta_{28} \wedge \theta_1 + \eta_{25} \wedge \theta_2 + \eta_{24} \wedge \theta_3 - \eta_{27} \wedge \theta_4 + 3\,(\eta_9 \wedge \theta_{12} + \eta_8 \wedge \theta_{13} - \eta_{10} \wedge \theta_{22} - \eta_7 \wedge \theta_{23} - \eta_{15} \wedge \theta_{33} + 2\,\eta_{16} \wedge \theta_{34})$$

$$+\eta_{39} \wedge \xi^{1} + \eta_{40} \wedge \xi^{2} + \eta_{35} \wedge \xi^{3} + \eta_{34} \wedge \xi^{4},$$

$$d\eta_{21} = (\eta_{5} - 2\eta_{1} - \eta_{4}) \wedge \eta_{21} - \eta_{2} \wedge \eta_{22} - 2\eta_{3} \wedge \eta_{19} + (3\eta_{6} - 2\theta_{34}) \wedge \eta_{17} - \eta_{26} \wedge \theta_{1}$$

$$+\eta_{30} \wedge \theta_{2} + \eta_{29} \wedge \theta_{3} - \eta_{23} \wedge \theta_{4} + 2\eta_{10} \wedge \theta_{11} - \eta_{12} \wedge \theta_{12} - \eta_{11} \wedge \theta_{13} + 2\eta_{7} \wedge \theta_{14}$$

$$-\eta_{14} \wedge \theta_{22} - \eta_{13} \wedge \theta_{23} - \eta_{18} \wedge \theta_{33} + 2\eta_{15} \wedge \theta_{44} + \eta_{41} \wedge \xi^{1} + \eta_{38} \wedge \xi^{2} + \eta_{33} \wedge \xi^{3}$$

$$+\eta_{36} \wedge \xi^{4},$$

$$d\eta_{22} = (\eta_{5} - 3\eta_{1}) \wedge \eta_{22} - 3\eta_{3} \wedge \eta_{21} + 3\eta_{6} \wedge \eta_{18} - \eta_{30} \wedge \theta_{1} + \eta_{32} \wedge \theta_{2} + \eta_{31} \wedge \theta_{3}$$

$$-\eta_{29} \wedge \theta_{4} + 3(\eta_{12} \wedge \theta_{11} - \eta_{14} \wedge \theta_{12} - \eta_{13} \wedge \theta_{13} + \eta_{11} \wedge \theta_{14} + \eta_{17} \wedge \theta_{44})$$

$$+\eta_{42} \wedge \xi^{1} + \eta_{41} \wedge \xi^{2} + \eta_{36} \wedge \xi^{3} + \eta_{37} \wedge \xi^{4}.$$

$$(2.2)$$

For these equations, the non-zero reduced Cartan's characters are  $s'_1 = 16$  and  $s'_2 = 4$ , the degree of indeterminancy is  $r^{(2)} = 24$ , therefore Eqs. (2.2) are involutive, and diffeomorphisms from the symmetry pseudo-group depend on 4 arbitrary functions of two variables.

In the next calculations we use the following Maurer-Cartan forms only:

$$\begin{split} \theta_0 &= b_3^3 \, b_0 \, \vartheta_0, \\ \theta_1 &= b_3^3 \, \left(b_{22} \, \vartheta_1 - b_{21} \, \vartheta_2 + \left(b_{22} \, u_{zz} - b_{21} \left(u_{yz} + b_4\right)\right) \vartheta_3 \right. \\ &\quad \left. + \left(b_{21} \, u_{yy} - b_{22} \left(u_{yz} - b_4\right)\right) \vartheta_4\right), \\ \theta_2 &= b_3^3 \, \left(-b_{12} \, \vartheta_1 + b_{11} \, \vartheta_2 + \left(b_{11} \left(u_{yz} + b_4\right) - b_{12} \, u_{zz}\right) \vartheta_3 \right. \\ &\quad \left. + \left(b_{12} \left(u_{yz} - b_4\right) - b_{11} \, u_{yy}\right) \vartheta_4\right), \\ \theta_3 &= b_3^2 \, \left(-b_{11} \, \vartheta_3 + b_{12} \, \vartheta_4\right), \\ \theta_4 &= b_3 \, \left(b_{21} \, \vartheta_3 - b_{22} \, \vartheta_4\right), \\ \xi^1 &= b_{11} \, dt + b_{12} \, dx, \\ \xi^2 &= b_{21} \, dt + b_{22} \, dx, \\ \xi^3 &= b_3 \, \left(\left(b_{22} \, u_{zz} - b_{21} \left(u_{yz} - b_4\right)\right) dt + \left(b_{22} \left(u_{yz} - b_4\right) - b_{21} \, u_{yy}\right) dx \\ &\quad \left. - b_{22} \, dy - b_{21} \, dz\right), \\ \xi^4 &= b_3 \, \left(\left(b_{11} \left(u_{yz} - b_4\right) - b_{12} \, u_{zz}\right) dt + \left(b_{12} \left(u_{yz} + b_4\right) - b_{11} \, u_{yy}\right) dx - b_{12} \, dy - b_{11} \, dz\right), \\ \theta_{33} &= \frac{b_3}{b_0} \, \left(b_{11}^2 \, \bar{\vartheta}_{33} - 2 \, b_{11} b_{12} \, \bar{\vartheta}_{34} + b_{12}^2 \, \bar{\vartheta}_{44}\right), \\ \theta_{34} &= -\frac{b_3}{b_0} \, \left(b_{11} \, b_{21} \, \bar{\vartheta}_{33} - \left(b_{11} b_{22} + b_{12} b_{21}\right) \, \bar{\vartheta}_{34} + b_{12} b_{22} \, \bar{\vartheta}_{44}\right), \\ \theta_{44} &= \frac{b_3}{b_0} \, \left(b_{21}^2 \, \bar{\vartheta}_{33} - 2 \, b_{21} b_{22} \, \bar{\vartheta}_{34} + b_{22}^2 \, \bar{\vartheta}_{44}\right), \\ \end{split}$$

$$\eta_{1} = \frac{1}{b_{0}} \left( b_{22} db_{11} - b_{21} db_{12} \right)$$

$$-\frac{1}{b_{0}^{2}} \left( \left( b_{11} b_{21}^{2} u_{yyy} - b_{21} \left( 2 b_{11} b_{22} + b_{12} b_{21} \right) u_{yyz} - b_{12} b_{22}^{2} u_{zzz} \right) + b_{22} \left( b_{11} b_{22} + 2 b_{12} b_{21} \right) u_{yzz} \right) \xi^{1}$$

$$- \left( b_{11}^{2} b_{21} u_{yyy} - b_{11} \left( b_{11} b_{22} + 2 b_{12} b_{21} \right) u_{yyz} \right) \xi^{1}$$

$$- \left( b_{11}^{2} b_{21} u_{yyy} - b_{11} \left( b_{11} b_{22} + 2 b_{12} b_{21} \right) u_{yyz} \right) \xi^{2} + b_{12} \left( 2 b_{11} b_{22} + b_{12} b_{21} \right) u_{yzz} - b_{12}^{2} b_{22} u_{zzz} \right) \xi^{2} \right),$$

$$\eta_{2} = \frac{1}{b_{0}} \left( b_{11} db_{12} - b_{12} db_{11} \right)$$

$$+ \frac{1}{b_{0}^{2}} \left( \left( b_{11}^{2} b_{21} u_{yyy} - b_{11} \left( b_{11} b_{22} + 2 b_{12} b_{21} \right) u_{yyz} - b_{12}^{2} b_{22} u_{zzz} \right) \xi^{2} \right),$$

$$\eta_{3} = \frac{1}{b_{0}} \left( b_{22} db_{21} - b_{22}^{2} db_{11} - b_{21} db_{22} + b_{21} b_{22} db_{12} \right) + \frac{b_{22}}{b_{12}} \eta_{1}$$

$$+ \frac{1}{b_{12} b_{0}} \left( \left( b_{21}^{2} u_{yyy} - 2 b_{21} db_{22} u_{yyz} + b_{22}^{2} u_{yzz} \right) \xi^{1}$$

$$- \left( b_{11} b_{21} u_{yyy} - \left( b_{11} b_{22} + b_{12} b_{21} \right) u_{yyz} + b_{12} b_{22} u_{yzz} \right) \xi^{2} \right),$$

$$\eta_{4} = \frac{1}{b_{0}} \left( b_{12} b_{21} db_{11} - b_{21} db_{12} - b_{12} db_{21} + b_{11} db_{22} \right) + \frac{b_{21}}{b_{11}} \eta_{2}$$

$$+ \frac{1}{b_{11} b_{0}} \left( \left( \left( b_{11} b_{22} + b_{12} b_{21} \right) u_{yzz} - b_{11} b_{21} u_{yyz} - b_{12} b_{22} u_{zzz} \right) \xi^{1}$$

$$+ \left( b_{11}^{2} u_{yyz} - 2 b_{11} b_{12} u_{yzz} + b_{12}^{2} u_{zzz} \right) \xi^{2} \right),$$

$$\eta_{5} = 3 \left( \frac{db_{3}}{b_{3}} + \frac{1}{b_{11} b_{0}} \left( \left( \left( b_{11} b_{22} + b_{12} b_{21} \right) u_{yzz} - b_{11} b_{21} u_{yyz} - b_{12} b_{22} u_{zzz} \right) \xi^{1} \right)$$

$$+ \left( b_{11}^{2} u_{yyz} - 2 b_{11} b_{12} u_{yzz} + b_{12}^{2} u_{zzz} \right) \xi^{2} \right),$$

$$\eta_{6} = -b_{3} db_{4} + \theta_{34}.$$

$$(2.3)$$

In these forms,  $\bar{\vartheta}_{ij} = \iota_0^* \, \vartheta_{ij}$  and  $b_{11}, \, b_{12}, \, b_{21}, \, b_{22}, \, b_3, \, b_4$  are arbitrary parameters such that  $b_0 = b_{11}b_{22} - b_{12}b_{21} \neq 0$  and  $b_{11} \, b_3 \neq 0$ .

### 3 Contact integrable extensions

To apply Éli Cartan's structure theory of Lie pseudo-groups to the problem of finding zero-curvature representations we use the notion of integrable extension. It was introduced in [2] for the case of PDEs with two independent variables and finite-dimensional coverings. The generalization of the definition to the case of infinite-dimensional coverings of PDEs with more than two independent variables is proposed in [24]. In contrast to [30, 2], the starting point of our definition is the set of Maurer-Cartan forms of the symmetry pseudo-group of a given PDE, and all the constructions are carried out in terms of invariants of the pseudo-group. Therefore, the effectiveness of our method increases when it is applied to equations with large symmetry pseudo-groups.

Let  $\mathfrak{G}$  be a Lie pseudo-group on a manifold M. Let  $\omega^1, \ldots, \omega^m, m = \dim M$ , be its Maurer-Cartan forms with the structure equations

$$d\omega^i = A^i_{\gamma j} \, \pi^\gamma \wedge \omega^j + B^i_{jk} \, \omega^j \wedge \omega^k, \tag{3.1}$$

where  $\gamma \in \{1, ..., \Gamma\}$  for some  $\Gamma \geq 0$ . The coefficients  $A^i_{\gamma j}$ ,  $B^i_{jk} = -B^i_{kj}$  in these equations depend on the invariants  $U^{\kappa}$ ,  $\kappa \in \{1, ..., \Lambda\}$ ,  $\Lambda \geq 0$ . The differentials of the invariants satisfy equations

$$dU^{\lambda} = C_i^{\lambda} \,\omega^j,\tag{3.2}$$

where  $C_j^{\lambda}$  are functions of  $U^{\kappa}$ . Consider the following system of equations

$$d\tau^{q} = D_{\rho r}^{q} \eta^{\rho} \wedge \tau^{r} + E_{rs}^{q} \tau^{r} \wedge \tau^{s} + F_{r\beta}^{q} \tau^{r} \wedge \pi^{\beta} + G_{rj}^{q} \tau^{r} \wedge \omega^{j} + H_{\beta j}^{q} \pi^{\beta} \wedge \omega^{j} + I_{jk}^{q} \omega^{j} \wedge \omega^{k},$$

$$(3.3)$$

$$dV^{\epsilon} = J_j^{\epsilon} \omega^j + K_q^{\epsilon} \tau^q, \tag{3.4}$$

for unknown 1-forms  $\tau^q$ ,  $q \in \{1, ..., Q\}$ ,  $\eta^\rho$ ,  $\rho \in \{1, ..., R\}$ , and unknown functions  $V^\epsilon$ ,  $\epsilon \in \{1, ..., S\}$  with some  $Q, R, S \in \mathbb{N}$ . The coefficients  $D^\kappa_{\rho r}$ , ...,  $K^\epsilon_q$  in Eqs. (3.3), (3.4) are supposed to be functions of  $U^\lambda$  and  $V^\gamma$ .

DEFINITION 1. The system (3.3), (3.4) is called an *integrable extension* of the system (3.1), (3.2), if Eqs. (3.3), (3.4), (3.1) i (3.2) together meet the involutivity conditions and the compatibility conditions

$$d(d\tau^q) \equiv 0, \qquad d(dV^{\epsilon}) \equiv 0.$$
 (3.5)

Eqs. (3.5) give an over-determined system of PDEs for the coefficients  $D_{\rho r}^{\kappa}$ , ...,  $K_q^{\epsilon}$  in Eqs. (3.3), (3.4). If this system is satisfied, the third inverse fundamental Lie's theorem in Cartan's form, [3, §§16, 22–24], [6], [29, §§16, 19, 20, 25,26], [28, §§14.1–14.3], ensures the existence of the forms  $\tau^q$ ,  $V^{\epsilon}$ , the solutions to Eqs. (3.3), (3.4). In accordance with the second inverse

fundamenatl Lie's theorem, the forms  $\tau^q$ ,  $\omega^i$  are Maurer–Cartan forms for a Lie pseudo-group  $\mathfrak{H}$  acting on  $M \times \mathbb{R}^Q$ .

DEFINITION 2. The integrable extension (3.3), (3.4) is called *trivial*, if there exists a change of variables on the manifold of action of the pseudo-group  $\mathfrak H$  such that in the new coordinates the coefficients  $F^q_{r\beta}$ ,  $G^q_{rj}$ ,  $H^q_{\beta j}$ ,  $I^q_{jk}$  and  $J^\epsilon_j$  are identically equal to zero, while the coefficients  $D^q_{\rho r}$ ,  $E^q_{rs}$  and  $K^\epsilon_q$  are independent of  $U^\lambda$ . Otherwise, the integrable extension is called *nontrivial*.

Let  $\theta_I^{\alpha}$  and  $\xi^j$  be a set of Maurer–Cartan forms of a symmetry pseudo-group  $\mathfrak{Lie}(\mathcal{E})$  of a PDE  $\mathcal{E}$  such that  $\xi^i$  are horizontal forms, that is,  $\xi^1 \wedge \ldots \wedge \xi^n \neq 0$  on each solution of  $\mathcal{E}$ , while  $\theta_I^{\alpha}$  are contact forms, that is, they are equal to 0 on each solution.

DEFINITION 3. Nontrivial integrable extension of the structure equations for the pseudo-group  $\mathfrak{Lie}(\mathcal{E})$  of the form

$$d\omega^q = \Pi_r^q \wedge \omega^r + \xi^j \wedge \Omega_i^q, \tag{3.6}$$

 $q, r \in \{1, ..., N\}, N \ge 1$ , is called a *contact integrable extension*, if the following conditions are satisfied:

- (i)  $\Omega_i^q \in \langle \theta_I^\alpha, \omega_i^r \rangle_{\text{lin}}$  for some additional 1-forms  $\omega_i^r$ ;
- (ii)  $\Omega_i^q \notin \langle \omega_i^r \rangle_{\text{lin}}$  for some q and j;
- (iii)  $\Omega_j^q \not\in \langle \theta_I^\alpha \rangle_{\text{lin}}$  for some q and j;
- (iv)  $\Pi_r^q \in \langle \theta_I^\alpha, \, \xi^j, \, \omega^r, \, \omega_i^r \rangle_{\text{lin}}$ .
- (v) The coefficients of expansions of the forms  $\Omega_j^q$  with respect to  $\{\theta_I^\alpha, \omega_i^r\}$  and the forms  $\Pi_r^q$  with respect of  $\{\theta_I^\alpha, \xi^j, \omega^r, \omega_i^r\}$  depend either on the invariants of the pseudo-group  $\mathfrak{Lie}(\mathcal{E})$  alone, or they depend also on a set of some additional functions  $W_\rho$ ,  $\rho \in \{1, \ldots, \Lambda\}$ ,  $\Lambda \geq 1$ . In the latter case, there exist functions  $P_\alpha^{I\rho}$ ,  $Q_q^\rho$ ,  $R_q^{I\rho}$  and  $S_j^\rho$  such that

$$dW_{\rho} = P_{\rho\alpha}^{I} \theta_{I}^{\alpha} + Q_{\rho q} \omega^{q} + R_{\rho q}^{j} \omega_{j}^{q} + S_{\rho j} \xi^{j}, \qquad (3.7)$$

and the set of equations (3.7) satisfies the compatibility conditions

$$d(dW_{\rho}) = d\left(P_{\rho\alpha}^{I}\theta_{I}^{\alpha} + Q_{\rho q}\omega^{q} + R_{\rho q}^{j}\omega_{j}^{q} + S_{\rho j}\xi^{j}\right) \equiv 0.$$
 (3.8)

We apply this definition to the structure equations (2.2). We restrict our analysis to CIEs of the form

$$d\omega_{0} = \left(\sum_{i=0}^{4} A_{i} \theta_{i} + \sum^{*} B_{ij} \theta_{ij} + \sum_{s=1}^{22} C_{s} \eta_{s} + \sum_{j=1}^{4} D_{j} \xi^{j} + \sum_{k=1}^{2} E^{k} \omega_{k}\right) \wedge \omega_{0}$$
$$+ \sum_{k=1}^{4} \left(\sum_{i=0}^{4} F_{ik} \theta_{i} + \sum^{*} G_{ijk} \theta_{ij} + \sum_{m=1}^{2} H_{k}^{m} \omega_{m}\right) \wedge \xi^{k}, \tag{3.9}$$

with two additional forms  $\omega_1$  and  $\omega_2$  mentioned in the part (i) of Definition 3. In (3.9),  $\sum^*$  means summation for all  $i, j \in \mathbb{N}$  such that  $1 \leq i \leq j \leq 4$ ,  $(i, j) \neq (2, 4)$ . These equations together with Eqs. (2.2) satisfy the requirement of involutivity. We assume that the coefficients of (3.9) are either constants or functions of additional invariants  $W_{\rho}$  mentioned in the part (v) of Definition 3. In the latter case the differentials of  $W_{\rho}$  meet the following requirement

$$dW_{\rho} = \sum_{i=0}^{4} I_{\rho i} \,\theta_{i} + \sum^{*} J_{\rho i j} \,\theta_{i j} + \sum_{s=22}^{7} K_{\rho s} \,\eta_{s} + \sum_{i=1}^{4} L_{\rho j} \,\xi^{j} + \sum_{q=0}^{2} M_{\rho q} \,\omega_{q}. \quad (3.10)$$

Defintion 3 yields an over-determined system for the coefficients of (3.9) and (3.10). The results of analysis of this system are summarized in the following theorem.

THEOREM 1. There are no CIES (3.9) with constant coefficients or CIES (3.9), (3.10) with one additional invariant  $W_1$ . Every CIE (3.9), (3.10) with two additional invariants  $W_1$ ,  $W_2$  is contact-equivalent either to

$$d\omega_{0} = \left(\omega_{1} + W_{1} \eta_{2} + \frac{1}{3} (\eta_{5} + 2 \eta_{4} - \eta_{1})\right) \wedge \omega_{0} + \left(W_{1} \theta_{34} - \theta_{44} + W_{2} \omega_{2}\right) \wedge \xi^{1}$$

$$+ \left(W_{1} \theta_{33} - \theta_{34} + W_{2} \omega_{1}\right) \wedge \xi^{2} + \omega_{1} \wedge \xi^{3} + \omega_{2} \wedge \xi^{4}, \qquad (3.11)$$

$$dW_{1} = W_{1} \omega_{1} - \omega_{2} - W_{1} \eta_{1} + W_{1}^{2} \eta_{2} - \eta_{3} + W_{1} \eta_{4} + Z_{1} (\omega_{0} + W_{2} \xi^{2} + \xi^{3})$$

$$+ Z_{2} (W_{2} \xi^{1} + \xi^{4}), \qquad (3.12)$$

$$dW_{2} = \eta_{6} - \theta_{34} + \frac{1}{3} W_{2} (\eta_{5} - \eta_{1} - \eta_{4}) + Z_{3} (\omega_{0} + W_{2} \xi^{2} + \xi^{3}) + Z_{4} (W_{2} \xi^{1} + W_{1} \xi^{4})$$

$$(3.13)$$
or to

$$d\omega_{0} = \left(\omega_{2} + W_{1} \eta_{3} + \frac{1}{3} (\eta_{5} + 2 \eta_{1} - \eta_{4})\right) \wedge \omega_{0} + (\theta_{34} - W_{1} \theta_{44} + W_{2} \omega_{2}) \wedge \xi^{1}$$

$$+ (\theta_{33} - W_{1} \theta_{34} + W_{2} \omega_{1}) \wedge \xi^{2} + \omega_{1} \wedge \xi^{3} + \omega_{2} \wedge \xi^{4}, \qquad (3.14)$$

$$dW_{1} = W_{1} \omega_{2} - \omega_{1} + W_{1} \eta_{1} - \eta_{2} + W_{1}^{2} \eta_{3} - W_{1} \eta_{4} + Z_{1} (\omega_{0} + W_{2} \xi^{1} + \xi^{4})$$

$$+ Z_{2} (W_{2} \xi^{1} + \xi^{4}), \qquad (3.15)$$

$$dW_{2} = \eta_{6} - \theta_{34} + \frac{1}{2} W_{2} (\eta_{5} - \eta_{1} - \eta_{4}) + Z_{3} (\omega_{0} + W_{2} \xi^{1} + \xi^{4}) + Z_{4} (W_{2} \xi^{2} + W_{1} \xi^{3}),$$

where  $Z_1, \ldots, Z_4$  are arbitrary parameters.

The forms (2.3) in Eqs. (3.11), (3.12), (3.13) and Eqs. (3.14), (3.15), (3.16) are known explicitly, therefore, in accordance with the third inverse fundamental Lie's theorem, the forms  $\omega_0$  satisfying (3.11) or (3.14) can by found by means of integration. This analysis splits into two cases — when  $Z_3 = 0$  or  $Z_3 \neq 0$ .

REMARK 1. When  $Z_3 = 0$  in Eq. (3.13) or Eq. (3.16), the functions  $W_2$  appear to be independent of the fibre coordinates of the covering. This entails that one symmetry of Eq. (1.1) is unliftable to the fibre of the covering. From results of [17, 14, 11, 12, 19] it follows that the corresponding covering has a non-removable parameter. Thus the appearance of the non-removable parameter in the covering can be deduced from the form of the CIE directly, before integration of its equations.

The results of integration of Eqs. (3.11), (3.12), (3.13) and Eqs. (3.14), (3.15), (3.16) are given in the following theorem.

THEOREM 2. When  $Z_3=0$ , every solution to Eq. (3.11) up to a contact equivalence is

$$\omega_0 = \frac{b_0 b_3}{b_{12} v_z - b_{11} v_y} \left( dv + (v_{zz} v_y - (u_{yz} + \lambda) v_z) dt + ((u_{yz} - \lambda) v_y - u_{yy} v_z) dx - v_y dy - v_z dz \right), \tag{3.17}$$

whereas for  $Z_3 \neq 0$  it is

$$\omega_0 = \frac{b_0 b_3}{b_{12} v_z - b_{11} v_y} \left( dv + (v_{zz} v_y - (u_{yz} + v) v_z) dt + ((u_{yz} - v) v_y - u_{yy} v_z) dx - v_y dy - v_z dz \right). \tag{3.18}$$

The solutions to Eq. (3.14) can be obtained from (3.17) and (3.18) by the following simple change of independent variables:  $(t, x, y, z) \mapsto (x, t, z, y)$ .

When we put  $\omega_0 = 0$ , Eq. (3.17) gives the system (1.2), while Eq. (3.18) defines new covering

$$\begin{cases} v_t = (u_{yz} + v) v_z - u_{zz} v_y, \\ v_x = u_{yy} v_z - (u_{yz} - v) v_y \end{cases}$$

for the second heavenly equation. These equations are nonlinear w.r.t. the fibre variable v.

REMARK 2. Direct computation shows that the symmetry of Eq. (1.1) with the infinitesimal generator  $X = t \frac{\partial}{\partial y} + x \frac{\partial}{\partial z}$  is unliftable to a symmetry of Eqs. (1.2). Since  $e^{\lambda X}(u_{yy}, u_{yz}, u_{zz}) = (u_{yy}, u_{yz}, u_{zz})$  and  $e^{\lambda X}(v, v_t, v_x, v_y, v_z) = (v, v_t + \lambda v_y, v_x + \lambda v_z, v_y, v_z)$ , the parameter  $\lambda$  in Eqs. (1.2) can be obtained by the action of  $e^{\lambda X}$  to the system (1.2) with  $\lambda = 0$ . Therefore,  $\lambda$  is the non-removable parameter of the covering (1.2).

#### References

- [1] L.V. Bogdanov and B.G. Konopelchenko, "On the  $\bar{\partial}$  -dressing method applicable to heavenly equation", Phys. Lett. A, Vol. 345, pp. 137–143, 2005.
- [2] R.L. Bryant and Ph.A. Griffiths, "Characteristic cohomology of differential systems (II): conservation laws for a class of parabolic equations", Duke Math. J., Vol. 78, pp. 531–676, 1995.
- [3] É. Cartan, "Sur la structure des groupes infinis de transformations", Œuvres Complètes, Part II, Vol. 2, pp. 571–715, Gauthier Villars, Paris, 1953.
- [4] É. Cartan, "Les sous-groupes des groupes continus de transformations", Œuvres Complètes, Part II, Vol. 2, pp. 719–856, Gauthier - Villars, Paris, 1953.
- [5] É. Cartan, "Les problèmes d'équivalence", Œuvres Complètes, Part II, Vol. 2, pp. 1311–1334, Gauthier Villars, Paris, 1953.
- [6] E. Cartan, "La structure des groupes infinis", Œuvres Complètes, Part II, Vol. 2, pp. 1335–1384, Gauthier - Villars, Paris, 1953.
- [7] M. Fels and P.J. Olver, "Moving coframes. I. A practical algorithm", Acta. Appl. Math., Vol. 51, pp. 161–213, 1998.
- [8] R.B. Gardner, "The Method of Equivalence and its Applications", CBMS– NSF regional conference series in applied math., SIAM, Philadelphia, 1989.
- [9] R.K. Dodd and H.C. Morris, "Bäcklund transformations", Geometrical Approaches to Differential Equations. Lect. Notes Math., Vol. 810, pp. 63–94, Springer-Verlag, 1980.
- [10] V. Husain, "Self-dual gravity and the chiral model", Phys. Rev. Lett., Vol. 72, pp. 800–803, 1994.
- [11] S. Igonin and J. Krasil'shchik, "On one-parametric families of Bäcklund transformations", Preprint arXiv:nlin/0010040, 2000.
- [12] S. Igonin, P. Kersten and I. Krasil'shchik, "On symmetries and cohomological invariants of equations possessing flat representations", Preprint DIPS-07, The Diffiety Institute, Pereslavl-Zalessky, 2002.

- [13] N. Kamran, "Contributions to the Study of the Equivalence Problem of Élie Cartan and its Applications to Partial and Ordinary Differential Equations" (Mem. Cl. Sci. Acad. Roy. Belg., Vol. 45, Fac. 7), 1989.
- [14] I.S. Krasil'shchik, "On one-parametric families of Bäcklund transformations", Preprint DIPS-1/2000, The Diffiety Institute, Pereslavl-Zalessky, 2000.
- [15] I.S. Krasil'shchik and A.M. Vinogradov, "Nonlocal symmetries and the theory of coverings", Acta Appl. Math., Vol. 2, pp. 79–86, 1984.
- [16] I.S. Krasil'shchik, V.V. Lychagin and A.M. Vinogradov, "Geometry of Jet Spaces and Nonlinear Partial Differential Equations", Gordon and Breach, New York, 1986.
- [17] I.S. Krasil'shchik and A.M. Vinogradov, "Nonlocal trends in the geometry of differential equations: symmetries, conservation laws, and Bäcklund transformations", Acta Appl. Math., Vol. 15, pp. 161–209, 1989.
- [18] I.S. Krasil'shchik and A.M. Vinogradov (eds.), "Symmetries and Conservation Laws for Differential Equations of Mathematical Physics", Transl. Math. Monographs 182, Amer. Math. Soc., Providence, 1999.
- [19] M. Marvan, "On the horizontal gauge cohomology and nonremovability of the spectral parameter", Acta Appl. Math, Vol. 72, pp. 51–65, 2002.
- [20] O.I. Morozov, "Moving coframes and symmetries of differential equations", J. Phys. A, Math. Gen., Vol. 35, pp. 2965–2977, 2002.
- [21] O.I. Morozov, "Contact-equivalence problem for linear hyperbolic equations", J. Math. Sci., Vol. 135, pp. 2680–2694, 2006.
- [22] O.I. Morozov, "Coverings of differential equations and Cartan's structure theory of Lie pseudo-groups", Acta Appl. Math., Vol. 99, pp. 309–319, 2007.
- [23] O.I. Morozov, "Cartan's structure theory of symmetry pseudo-groups, coverings and multi-valued solutions for the Khokhlov–Zabolotskaya equation", Acta Appl. Math., Vol. 101, pp. 231-241, 2008.
- [24] O.I. Morozov, "Contact integrable extensions of symmetry pseudo-groups and coverings of (2+1) dispersionless integrable equations", Journal of Geometry and Physics, Vol. 59, pp. 1461 1475, 2009.

- [25] O.I. Morozov, "Maurer-Cartan forms of the symmetry pseudo-group and the covering of Plebañski's second heavenly equation", Scientific Bulletin of MSTUCA, Vol. 140, pp. 14–21, 2009 (in Russian) Preprint arXiv:0902.0086v1 [math.DG].
- [26] P.J. Olver, Equivalence, Invariants, and Symmetry. Cambridge, Cambridge University Press, 1995.
- [27] J.F. Plebañski, "Some solutions of complex Einstein equations", J. Math. Phys., Vol. 16, pp. 2395 2402, 1975.
- [28] O. Stormark, "Lie's Structural Approach to PDE Systems", Cambridge, Cambridge University Press, 2000.
- [29] M.V. Vasil'eva, "The Structure of Infinite Lie Groups of Transformations", Moscow, MGPI, 1972 (in Russian).
- [30] H.D. Wahlquist and F.B. Estabrook, "Prolongation structures of nonlinear evolution equations", J. Math. Phys., Vol. 16, pp. 1–7, 1975.